[ Senala, de las tres opciones propuestas, cual es la correcta.

pigicing

piscing

picina

helicopetero
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helicotero

helicoptero

camigetg

cagsimetg

catisemag

melotocon

metolocon

melocoton

pediente
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pendiente

pendeinte

huracan

hucaran

huarcan

peirna

pierena

pierna
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[ Senala, de las tres opciones propuestas, cual es la correcta.

: cuadro esepe;jo

: cuador espejo

: caudro espoje

: unirocnio caniom

: uinicornio camion

’ unicornio caimon

: lamrapa tirejag
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: lapara tijerag

: magica pitimiento
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